As per Simulation, LF442 Part Rise time looks better than TL032CP.
Please find below Screenshots for reference.
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But as per Datasheet & calculation.

TL032CP:
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LF442CN/NOPB:

Tr = 0.35/BW
BW = 1Mhz.

Tr = 0.35/1000000 = 350nS

As per Calculation TL032CP looks better than LF442CN which makes sense as per Datasheet parameter Slew rate, which is better in TL032CP.
2.9V/uS of TL032CP vs 1V/uS of LF442CN/NOPB.

Kindly help me understand better.

Thanks,
[bookmark: _GoBack]Venkatesh
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Vipp) =10V, 25°C 138 132

tr Rise time RL =10 kQ, C_ =100 pF 0°C 134 127 ns
See Figures 1 and 2 70°C 150 142
Vipp) =10V, 25°C 138 132

1 Fall time RL =10k, C_ =100 pF 0°C 134 127 ns
See Figures 1 and 2 70°C 150 142





